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Bridge

	   Famous Hand
	
 Small mistakes are sometimes respon-

sible for big losses. For a typical example, 
consider the accompanying deal played 
between the United States and Italy in the 
1979 world championship.

The bidding and opening lead were ex-
actly the same at both tables. At the first 
table, with an American pair holding the 
North-South cards, declarer won the heart 
lead with dummy’s ace, cashed the A-K of 
diamonds and ace of spades, then led a club 
toward dummy. Unfortunately, not only 
were the trumps divided 3-0, but East also 
had the A-Q of clubs, so the contract went 
At the second table, the Italian declarer 
made five diamonds. He played the ten 
of hearts from dummy at trick one, and 
it won the trick. This seemingly inconse-
quential play made all the difference in the 
outcome.

Declarer next cashed the A-K of trumps 
and ace of hearts before playing a spade 
to his ace. Then came the king of hearts, 
both defenders following suit and leaving 
only the jack outstanding (which West was 
known to hold).

 At this point, South ruffed his jack of 
spades in dummy and returned a trump, 
compelling East to win the trick with the 
queen.

This left East in a hopeless position. 
Whether he returned a club or a spade, 
declarer could not lose more than one club 
trick. And so, thanks to playing the ten of 
hearts from dummy at trick one, the Italian 
declarer succeeded where his American 
counterpart had failed.

The odds were probably better than 10-
to-1 that declarer’s first play from dummy 
would have no effect on the ultimate 
outcome, but this happened to be that one 
time.
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This is a logic-based 
number placement puz
zle. The goal is to enter 
a number, 1-9, in each 
cell in which each row, 
column and 3x3 region 
must contain only one 
instance of each nu-
meral. The solution to 
today’s Sudoku puzzle 
is right.  
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